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General Awareness

‘1. Which of the following coun-
tries has decided to purchase

126 Rafale fighter atrcrafts e

from France ?
(1) Iraq (2) China
3 Bangladesh

 (4) Afghanistan -
. (5) India

.2.Wluchofthcfollowingdjseas-

@TB.
4). S'wine flu

(1) Polio
" (8} Cancer
v _:-.(5}Asthama
. 8. Which of the fo]lawmgcoun
~ tries in India’s neighbourhood
is facing chaiges of violation
of Human Rights of Tamilians
. living there ? o
(1)'Sri Lanka (2) Myamnar
. (3)Afghanistan = -
"/ (4)Pakistan {5) Nepal
4. Which of the following!sNOT
- an'important function of Re-
‘'serve Bank of India? =
(1) Management of Foreign

~~Exchange Reserves..... .
(2 Poreign Exchange related
*&atrent and capital ac-

e

-Lpynt management. .

(3] Devising Foreign frade |

. Policyof India -
(4) Debt and Cash Manage-
© ment for State Govern-

{5] %ﬂm of Govemment '
ties MR 7 i

8. Ms. Kdmla Persad Bissessar
whdTW%@s on a visit to India

recently is the present

'{l)*?regidcnt of Trinidad-&
Tobago ! :

(2Y PHiie Minister of Trinidad
& Tobago

. - (3) Prestdent of Fyji

(4) Prime Minister of Fiji
(5) None of these:

6. Which of the following State-

. ments pertaining tp present
economic sifuation of the |

world is/are True ?

_(}) China:.and India are mak-
ing very good progress on
the economic front.
Though India is a little

- slower than China. .

“(2) United Kingdom and al-
most all Européan na-
tions are now out of eco-
nom!ccrlsis :

(3) United States has decided :

to give 3 lakh thousand

'US dollars to Irag as a.

compensation for its un-
necessary attack on it.

~ (4) AsWorld Trade Organisa-

tion is abolished, coun-
" tries are free to make their

owneconomiccooperaﬂm'

treaties
{5) All are true

7. Indiarecmt!ysjgnedaMulu— "
- lateral Convention on Mutu-,

. al Administrative Assistance
- in Tax Matters. This will help

Indiainhavingastﬂctcheck -

onwhlchofﬂwfollowmgis-
sues ? '

[l] Nuclear Safety of its-

plants

- (2 megalsu.pplyofnarcoues

and drugs -
(8) Balance of

(4) Black mone}r staahed

> abmad
(5) Border trade among
.SAARC nations

8. Which of the following organ-

isations of countries, at one
oflts crucial meetings in Bel-

. gium, in December 2011, had

‘agreed to sign an Intergovern-
mental Fiscal Treaty ?
(1) OPEC - {2) SAARC

‘B E 1 Union
@ BRI /! (5) NATO"
Buqine:ss Correspondcnt.‘
Framework launched by thé’
Rcs ¢ Bank of India is a

acluevmgw’mchofthc
!'ollow!ng

- " (1) Financial Inclusion
" (2) Trapsparency m banldng‘

transactions - "~
3 Better control over coop-
mﬂve/smallbanks

" (4) Projiding direct subsidy to'

10.

consumers of Rublic Dis- -
- tribiition System CPDSJ ;
(5) ‘Norle of these = -
Imrped!atcly prior to Sri
Mukul! ‘who among the
following was the Raﬂway
Minlster of India ?

(1) Dr. Manmohan smgﬁ

(2) Sri samal Nath
(3) Ms. ‘Mamta Banerjee

" (4) Sri Rajiv Shukla

11.

(5) Sri Pinesh Trivedi

Nuclear: Threat Initiative, the

- organisatiommwhich has com-

12.

=

(5) Chiqa.

piled first ever index of secu-
1y aferials globally, is ah

Whoamong the follawmgwas :
the Chief Guest at India's 63rd -
Republic Day [2012} func-
tioni? -

(I}Kamlal’u'sadﬂissepsar

" (2) Yingluck SIﬂnawatm

- (3) David Camerofy -

(@) Hamid Karzai

*15) Sheikh Hasina

* 18:The 160:11 mieetirig of the Or-

ganisation of Petroleum Ex-
porting Countries. (OPEC) was
orgarused in December 201 1
in— i,
(1) Doha
(3) Viefina.

" (2) Dubai
(4) Tehran -

. (5) Beirut



14. The first term of President

. Pratibha Patil in ofﬂoc wﬁl end-
B e— :

{1) July 2012

{2) June 2013

. {3)January 2013

{4) July 2013

(5)January 2014 -
ll. India played Border-Gamkar

. Test Series Cricket matcheésta |

- January 2012 with —
~ {1) New Zealand
(3) Australia
{4} South Africa
(5) Kenya
u. Which of the {ollowlng organ

isations has recommended |
that Financial Literacy should §.
be made part of eyllabus from i

'High Schools 1tself ?

*. (1} Securities & Exchange |

‘Board of Indta (SEBD}

{2) Reserve Bank of lndla |

(RBT)

(3} lndlanBanksAawclaﬂm .
(IBA)

ld~l National BankforAgﬂcuI- :

ment {NABARDI

- {5) State Bank of India ol
* won Best Ac- X

l?.Ranbh‘
- tor Award I 57th Finfare

_ Awizd functions for his ﬁh’n '

¥ (1) Wake up Sid
@8 Rock Star,
C-Sl’m,lanamimee .
(4) Rajneet! =

_l. ®), ngcmamgl_i_ “Saleaman | b

ol the year

- u,mmmmmuormmm_i a8
: ._\-_.maslaonamreedaywtm--- :
. Decemberzmltoattmd—-._ o

.. (1) G-20 Summit
{2) G-8 Summit
(8} Pestival of India ..

* 14) Indta - Russta S_'-“_ﬂ_'_mt _u During 20th-22nd June 2012,

© 7 (5) WTO Summit

.19 Whommgthefwua-;-:
L7 Pading mahan Awatdeéii'-:

Ty T

20137

- zp e

@ Vyey zol T
(Q;ﬁﬂnﬂK.Bhabha
- (5. Dipika, Palitka) . '

S -'v
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.20. Which of the following days
is observed as AIDS Day every’
year?. - .

{1} 10th March

(2) 18t December . -

'{3) 10th December

(4) 1st Novernber

{5) 1st March

2. Who among the following won
12tk Asian Shooting (Rifle)

* Championship organised in

" .Doha in January 2012? -
" {1) Tao Wang ' :
. {2} Qinan Zhu
(3] Shriyanka Sadangl
4} Anjali Bhagwat
_{5) Abhinav Bindra

23, Which of the following terms

_is used in the field of Econom-
- ies?
_lll.Amperc
_.-{2) Horse Power -
- {3). Relative Density
(4) Arbitrage
. {5} Joule's Law

28. Wasim Jaffer's name was in-|
" news rcbently- He is a well

" known
gy Chesaplayer
(2) Table Tennis player
' (4) Golf player
" 6) Cricket player
24. Who among the following is
~the Chle!' Justice of lndia at
t?
{1} Justice Sujata Manohar
~ (2) Justice Altamas Kabir .
3 Justice G. S. Singhavi
* (4) Justee S. H. Kapadia
- (5) None of these - .. '
Wh!ch of the following. repre-
.- sents present Cash Rcserve
* Ratio (CRR}.? - coe
(1)5% 12)4.75%
< {3)5.256% (4)4.50%
: {8) None of these.

V- the ‘Earth: Summlt‘ wﬂl take

i—'\.-'- mm-ﬁ—_ - -

fl] Ncw’Yark {2} Pm

e 3 {3y Ri6 d€Janerlp
C @) Shlvakesﬁauq‘ R O

_{4) Wastitrigton nc o
ho "a‘?;?opg ‘the followtng is
onie’ of the wlnneré of‘Nobel
_;‘Peacclﬁrlzemwoll 7

(1) Edmund S. Phelps
(2) Akira Suzuki
{3} Tawakkul Karmar',
(4) Finn E. Kydiand
{5} Richard F. Heck
28. Which of the following Organ-
isations is the Regulators of
Stock Exchanges in India ?

(1) RBI (2) SIDB1L
{3) SEBIL. {4) NABARD
{5} IBA

290. Which of the following
schemes is launched by- the
Government of India to pro-
vide banking services in 73000
villages in Indla ¥ .

{1) ASHA (2) Swabhiman
{3) Kutir Jyoti

(4) RAY .

(5) Swavalamban

30, What does the letter ‘D’ de-

npote in the term 'SDR’ ? (as
used in Finance) :
(1) Deposits (2} Data
(3) Drawing {4) Debt
(5] Dealers
31. Which of the following awards
is glven to Sports persons ?
{1) Kalidas Samman
© {2) Saraswati Samman
(3} Ashok Chakra
{4) AjunaAward -
(5) Vyas Sarnman
82. Who among the following is
the President of France at
. present? : _
(1) Mr. Dimitry Medvedev
{2} Mr. Nicolas Sarkozy-
{3} Mr. Rupert Murddgch
{4} Mr. Silvio Berhxsmni
i5) None of these ..
83."Which of the followmg books
is written by Kiran Désai ?
(1} A Brush With Life -
{2) A'Fortune Teller Told Me
' (3) Black Arrow
‘{4) Catch - 22
{5) The Inheritance of:Loss
34:'Which of the followsig cups/
. trophies is associated with

. . the game of Cnc!cetiar

(1) Davis Cup S O
(2} Agha Khan Cup-
(3) Wimbledon Cup
{4) Nehru Qup coake
- (5) Ranyi Trophy .c:v



35. Russia is now a member of
which of the following organ-
isations and will be inducted
formally from 15th July 2012 ?
{1) G-20
(2 G-8 -

(3) UN Security Council
{(4) World Trade Organtsation
_ {8) QPEC
36. Total Gross National Products’
- divided by the total popula-
- tion is known as which of the
~ following in Economics ?
(1) Statutory Liquidity Ratio
{2) Intffation -
{3) National Income
{4} Deflation
(5) Per Capita Incorne
* 37. Which of the following is'a
highlight of the Union Bud-
get2012-13?
{1) GDP growth projected at
9% level
(2) Direct Tax Bill to be ln-
troduced in 2014-15
{3} FDI in retail will be al-
© lowed from 2015 .
{4) Marginal increase in per-

sonal income tax limits

{5} No new scheme in Health
sector will be launched

38. Which of the following terms

is used in the game of Foot-

ball ? .

(1) Penalty -

. 12) Cover Point

{3) Cox

(4} Bull's Eye

~ 5)-Half Nelson -

" 39, Which .of the foﬂowmg com-
binations of the name of
couniries and théir capitals is
NOT Correct ? :

{1) Bangladesh — Dhaka

(2} Afghanistan — Kabul .

{3) Canada — Ottawa |

(4) China — Befjing .

(5) Itely — Milan .
40. Which:of the following instry-
«  meniais used to measure in-

, tensttycof earthquakes 7

(1) Seismograph

(2) Perigcope

{3) Maggmeter ..

{4) Galvanomieter

(8} Dynamometer
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English

Directiolus {41-55) : Read the
following passage carefully ard an-
swer the question given below it.
Certain words have been printed in

bold to help you locate them while.

answering some of the questions,
The kingdom of Vijaynagar had
not been enjoying good relations
with its neighbouring state, Mah-
anzgar, for a very long time. Jeal-
ous opponents of Rama, the king's
favourite minister, found the per-
fect opportunity to damage his rep-
utation. So they went about poison-

ing the king's mind against him.’

One day, when the king was in his
chamber pondering over the affafrs
of the state, one of his courtiers
came in and said, “Your Majesty,

have you heard the latest " The king

was surprised and exclaimed, “No,
I have not! What's-going on ?7 In
his gravest veice, the courtier ag-
swered, “Your majesty, I will tell you

only after you promise not to harm*

me."” “Don’t be silly,” laughed the
king, “Say whatever you want to:
you need not be afraid of me.” *“Your
Majesty, Rarna 1s on the payroll of

the king of Mahanagar. He has been

' spying on us for them.” "What are
you talking about ? askcd the king
angrily."This has been gomgon for
a long time. But you would ‘not be-
lieve a word against Rama. He has
cast sach a spell on you that you
refuse’ to even think that he might
betray you.” “Ramad is faithfil to the
kingdom.-He cannot do this. Your
have beéen misinformed,” the king
replied with confidence. But. the
courtier convinced the ktng to re-
gard the statement with some grav-

| ity and not dismise it outﬂght

“Your wajesty, I-am fully, confident
about; the truth of my information.

Do you thmk 1 would have spoken
to yoiz without verifiing the infor-
thatiori 2" said the courfier. 'Ih@king
proraised to get thegna;tﬂ‘ invest-
gated and saild that IIRama was

| found gutlty, he would E bc unj;hqdé

| The Iimg.gentf or Ramid the Tollow”

'ing day and without mung Mane
1on prellminarics hc asked him

> "Hmidﬂg

whether he was in league with-Ma-;
hanagar. The' ‘question shocked
Ramna so-much that he could nof -
say anything. Rama’s silence &n-
gered the king and he thundered;
"Your silence says that you aceept
the chargel” Deeply hurt that the
king could doubt his loyalty, Rama
refused to muwer tosucha prepos-,
is angered the king’
. He ordered !%ma tojeave
his kingdom. S
~ Ramadidnot sayn alngle wms
in his defence and went away wnm
his head bowed. When his encries
heard that Rama had been expelied
from the kingdom their joy knewno
bounds. Meanwhile Rama went to:
Mahariagar and met the King there.
Hcpieaaedmeidngmﬂ:h!swﬁ.m
king asked Rarna whé-he was and
when he revealed his name, the king
him warmiy. He had hearyd -
much about Rama's sagacity. But -
the king was surprised to see Rama
in his court. “Your king considers me
his. senemy. So.what are you doing
here ?° Rama replied, “Your mafes-
ty, youare & learned man. You have

great strength. Youareagoodad-

- ministrator and wish your. people

well, Ourk!ngalsopossessesall
these virtues. He regards you as a;

-ﬁ-lendmdhehassmtmtormfw

“Your lgngmnsidem me. s. frlend ?

-But our spiés warried us'that’ your

king was thinking of attatking us,”
satd the king. Rama said, “Our spies
haveHo;n-!dngtluspmepmkqt
Hes. mhmwhyhehasmtmtn

. ed by
stafemmt. He. said Idﬁ not-want
war; either. But hmwcanlbelm

'thatymn-kingreallywmtapewe?’
1 Raina suggested that the king serid

& eS|

4. Inessenger: with glﬁ:saml
Andtf

sage ‘of peace ta Vija

meaBsthat he, 10, Wan t'a.J 4 be
friends. But if he réturns, thq%ﬁs.
then Wb&: he wa

¥ S E AL

have come ith the message of peace
nd.so it is uﬁirhh have &mﬂe’ﬂn



first move." The king liked the sound |

of that and sent his special messen-
ger to Vijaynagar the next day.
Meanwhile, the king of Vijaynagar
had come to know that Rama was
innoceat and that the courtiers had
conspired against him. As soon as
the messenger from Mahanagar
reached him with the gifts, he was
delighted. He was full of praise for.
Rama’s wisdom and sent his own
minister with gifts to Mahanagar,
with a request that the king send
‘Rama back. When Rama returned
to Vijaynagar, the King warmly wel-
comed him. He also promised-to
punish the cligue of courtiers who

had. poisoned his rnind against his

favourite minister.

" 41, The opponents of Rama used
* which -of the following as an
‘opportunity to poison the

‘king's mind against him ?
* (1) The fact that Rama had vis-

tfed Mahanagar :

(2) The fact that Vijaynagar was

not on good terms with_

Mahanagar

(3) The fact that the king of |

Mahanagar had sent a mes-
senger to Vijaynagar _
(4) The fact that Rama was the
king's favourite minister
(5) The fact that Rama did not
defend himself when he
was accused of spying
43. Why were Rama'’s opponents
happy ? :

{1)The klng had appointed'

someone clse in place of
-Rama as the minister

{2) The king had forgiven them

. _for potsoning his mind

{3] The king had banished
. Rama from Vijaynagar as a
punishment

(4) Rama had taken a job in
| : A

(5) The messenger had brought

costly gifts from the king of |

Mahanagar

43. What did the king do when he |

heard that his favourite min-
-ister, Rama, was a spy ?

(1) He ordered his soldiers to |-

. behead Rama
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(2) He banished Rama from
Vijaynagar without asking
for an explanation

{3) He. punished the minister
who came to him with the
" information _

(4) He declared a war on Mah-

(5)He sent for Rama and

) asked him to tell the truth |.
44. How did the king of Vijayna-

gar find out that Rama was

lnnoccnt 2 '

{‘1) The king of Mahanagar told
‘him

(2) The opponents of Rarna

- confessed

(3) The messenger frony Mah-

" anagar told him )

(4) The spies informed him.

(5) Not mentioned in the pas-
sage ’

;45. What was Rama's fcaction.-

~ when he was accused, of spy-
ng? -

{1)He was so shocked and
hurt that he reinained si-
fent and refused to defcnd
- hjmaelf

. (2} He accepted ‘the charge

~ against him and left Vi- |

- juynagar

(3) He simnply resigned from his
- post and approached the-

- king of Mahanagar for a job
(4) He made sure that his op-
- ponents were punished be-
' fore he left Vijaynagar
(5) He was so embarrassed

that: hc refuscd to meet '

- anyone

48. Arrange the following inci-

dents in a chronological order

as they occurred in -the

sage. -~

(A) 'ﬂleldngofVijaynagarwel
comed Rama.

{B] Thc king was poﬁdering _

over the affairs of his state.

(C) The king of Vijaynagar
" ghouted at Rama,

-"-"'-_'(I:J}'I‘heklngofMaharmgurwaa'

‘doubtful about sending his
nwsse.nger to’ Vijaynagar

(1}BDCA  {2) BCAD
(3) BCDA (4) CRDA
{5) BADC

'47. Which of the following. quali- '

ties can be attributed to Rama
. as inferred from the passage ?
{1) Punctual
(2} Disloyal
{3) Rude
{4) Intelligent
{5) Arrogant
48. Why was the king of Mahana-
gar skeptical about Rama's
* presence in his court ?
(1) He had heard that Rama
was a spy from Vijaynagar.
{2} He believed that the king of
Vilaynagar considered him
as an enemy
{3)He did niot like the way
.. Ramawent on praising him
" {4)He knew that Rama had
been banished from Vi-
jaynagar for spying .
(5) His spies had already poi-
" soned his mind against
Rama '

49. Why did Rama ask the king of

Mahanagar to send a messen-

ger with gifts to Vijaynagar ?

{1} In order to ensure that the
king of Vijaynagar did not
wanti war

(2} Because the king of Vi-

. jaynagar liked gifts

{3) It was his way of apologis-
_ing for being dlsloyal to Vi-
Jaynagar '

(4)In order to show the king
of Vijaynagar-that Mahan-
agar was a wealthy state .

.{5) In order to please Rama s
opponents

- B80. Which of the following is trae .

according to the passage ?
{1) Rama’s opponents were |
jealous. of him '

() Theking ofMatmégarsem

.- a messenger to Vijaynagar
(3) The king of Vijaynagar wel-
. comed Rama back to his
“kingdom -
{4) Rama succeededm impwv
ing the relaﬂoqs ‘between
. Vijaynagar and Mahanagar
(5) Al are true ,



Directions (51-53) : Choose
-the word/group of words which is
most gimilar in the meaning to the
word /group of words printed in bold
as used in the passage.
G1. Preposterous
(1) Believable
(2) Cunning
(3} Understandable
{4} Absurd
(5) Accurate
52, Fed .
{1) Told (2} Ate
(3) Sentenced (4) Covered
(5) Taught
3. Cast a spell on
{1} Hypnotised (2} Impressed
- {3) Arreated {4) Caught
(5) Cheated
_ Directions {54-55) : Choose
the word / group of words which is
MOST OPPOSITE in meaning to the
~word / group of words printed in
bold as used in the passage. .,
54. Innocent .
" (1) Suspictous {2) Clear
{3) Intelligent (4) Loyal

(5} Guilty
55. Dismiss :
(1) Ignore , (2) Overlook
{3} Forget (4} Remember
" (5) Accept : o
Directions (56-80) : Each sen-

tence below has two blanks, each

blank indicating that something

has been omitted. Choose the set
of words for each blank which best
fits the meaning of the sentence as
a whole.

- 86, The artist had to a lot
" befdre_____ recognised for his
talent.
(1) struggle, being -
(2) toil, ‘he

{3) practice, performing
{4} effort, he was
(5) strive, the
B7. Most of the comrnitte 2e. mem-
in favelrof the

*'_'of a new dam in that

(1YW35, building
{2) are, proposing
(S)W*e're construction
{4) nby a.ssembly
(5) &, breaking

- B9. They _
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58. She
man as she will be
.Germany next month.

(1) likes, reaching
(2) wants, leaving
"(3) intends, visiting

(4) tries, touring
{5} knows, going
. a sound infra-
structure in order to
with the new challenges.
(1) want, handle
(2) got, Theets
(3} have, give’
. {4) need, cope
{5) had, Teach :
- 80. As soon as she - the
branch office, she was asked
to to the head-office
fmmediately.
(1) came, go
(2) went, attend
{3} reached, report
(4) found, look '
(5) saw, remind -
Directions (61-65) :
each sentence to find out whether
there is any grammaticat error or
idiomatic error in it. The error, if
any, will be in one part of the sen-

- for

tence, The number of that part is

the answer. If there i3 ‘No Error” the
answer is (5). {Ignore errors of pun'c
tuation if any.) -

61.The temple is at located (1)/

" such a high altttude that it is
{2)/ impossibie to go there (3)/
during the winter season 4/
No Error {5) .
62. On reaching the (1)/ lake. the
" leader realised {2)/ that two

elephant from (3)/ his herd |
were missing. (4}/ No Error (5} |

83. The builders have {1)/ prom-
- ised a customers (2)/ that the
construction will be (3)/ com-
pleted as soon as posslble 1)/

No Error {5) _
64. Prattk was extremely (1)/ hap-
- py when he (2) /- saw his favou-
rite {3}/ actor at near the
- “mall.(4)/ No Ervor (5] :
65. Vanita managed-to {1}/ an-
' swers all the guestions {2)/
‘whereas her friend could {3}/
answer only a few.(4)/ No Er-

ror (5)

‘to learn basic Ger- -

Read

Directions (66-70) : Which of

the phrases (1), {2), (3) and (4} giv-
en below should replace the phrase
given in bold in the following sen-
tence to make the sentence gram-
matically meaningful and correct ?
If the sentence is correct as it is and
‘No correction is required’, mark (5]
as the answer.

66. My friends tried to play a
tricks on me on April Fools
Day.

{1) tricked
- (2] played a trick
13) playing the trick
(4) play a trick .
(5} No correction required

67. His business has been gone
downhill ever since hls broth-
.er left.

(1) went downhlll

{2) go downhill

(3) going downhill

(4) going downhills -

{5) No correction reguired

68. The thief finally decide to con-

fess his crime just before the

trial started. _
-{1) decision to confess .
{2) decided to confessed
{3) decide to confession -
{4) decided to confess
(5} No correction required
69, They had registered a com-
-plaint against her as she have
. wviolated the contract.
{1} had violence -
{(2) had violated
(3) has violate
{4) have violate
(5} No correction required .
70. Last evening, the actor throw
a party at his residence.
" {1) threw a party
(2} threw the parties
- (8) thrown: a party
{4) throw the party
~ {5) No.correction reguiréd
‘Directions (71-80) : In the
following passage there are blanks,
each of which has been numbered.

These numbers are printed below

the passage, against each, five

| words are suggested, one of which

fits the blank appropriately. Find
out theé appropriate word In each

3l T =TT

S A ey



Once there was a lake which
was (71) to many golden swans.
Every six months, the swans would
leave a golden feather as a {72) for
using the lake. The soldiers of the
kingdom in which the lake was,
would collect the feathers and de-
posit them in the royal treasury.
One day. a homeless bird saw the
lake. “The water in this lake (73} so
cool and scothing. I will (74} my nest
here,” thought the bird. As soon as
the bird settled down near the lake,
the golden swans noticed her. They
- shouted, “This lake helongs to usl

We pay a golden feather to the King

~ for using it. You cannot live here.”
I am homeless, brothers. I too will
pay -the rent. Please give me (Z5).”
_ the bird pleaded. “How will you pay
© the rent ? You do not have golden
feathers,” said the swans, laughing.
They fdrther added, “Stop dreaming
" and leave at once.” The humble bird
pleaded many times. But the arro-
gant swans {78) her away. “1 will
teach them a lesson!” decided the
humiliated bird. She went to the
King and said, “O Kingl The swans
in your }ake are impoljte and un-
. kind. I begged for shelter but they
said that they had rented the lake.”
The King was angry with the arro-
gant swans for (77} insulted the
homeless bird. He ordered.his sol-
diers to bring the arrogant swans
* to his court. In no time, all the gold-
en swans were brought to the King's
court. “Do you think the royat trea-

sury depends upon your golden |
feathers ? You cannot decide who |

lives by the lake. Leave the lake at
once or you all will be heheaded!”

shouted the King. The swans shiv-
ered with (78) on hearing the King.

They flew away and never (Z8). The
bird built her home near the lake
and lived there happily forever. The
bird gave shelter to all other birds

who {80) to stay near the lake.’
71. (1) local ~ (2) helping
" (3)liked - . (4) home
(5) water - _
72. (1) treasure (2] interest
{3) fee (4) charging
{5) money -
73. (1) sces {2) acts
{3) lock {4) seems
-(5) finds
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74.(1) keeps _[2) draw
{3) make (4) find
(5) shelter
75. (1) rent (2) feathers |
{3) nest (4} lake
(5} shelter -
76. (1) took {2) send
(3) walked {4) drove
(5) flew
77.(1) having (2] showing
3) giving -~ 4} saﬁng
(5} doing .
78 (1) happiness {2} de]ight
{3) nervous -
' {4) amusement C
(5) fear : .
- 78, {1) Hved (2) returned
(3} flew (4) insulted
(b} stayed
80. (1) paid {2) wished
(3) demand  {4) likes
(5) hope ' :
Aptitude

* Directions (81-95)
" value should come in the place of

question mark [?} in the following |

questions ?

81,33+ 1333+31 13 + 13. 31 +
1.3=7
{1)64.31  (2)62.37
{3)64.47 ~ {4)62.17

. [5) None of these o

82.{16)% + {21 )* - (13)* + ? = (25
{1)67 (2)32

- (3) 81 {4) 97

~[6) None of these

83.47+ 345+ 15x2="7 .
{1) 68 2193 -
(3)59 471
{5) None of these

'84. 73% of 5800 - 69% of 240 = ?

{1)4608.3 . (2)4210.8
{3) 4008.4 (4} 4680.4
" (B} None of these
17 98

85. [119 X ] =?

@5 " 2)7

N3 48
{5} None of these
86.32x2.1x16=7

(1} 12.732 {2) 10.752

(3y17.520 (4} 15.270

(5) None of these .

: What |

87. - f—g— (8 orsero?
"3 % g O g UONE

(1} 76 {2) 01
{3)63 {4182
:{5) None of these
88.60x15+7?=195
{1)5 {2) 2
311 - {4)6 .
{5) None of these

. 80,204%of 7 =1848.24

{1) 517

{3) 321

{5) None of these - - '
90. 97864321 + 5053 =7 -3727

(2y784
. (4) 906

(1) 14245  (2) 14524
(3)14452  (a) 14254
(5) None of these

17 68 330

‘22 22 98 o
(i}a : (2} 8
36" {49 |

{5) None of these

92. /324 + /1296 =
{562 - (2)44
(3154 (4) 42

{5) None of these
83.23+636+12-14="°

{1) 41 (2} 53
B}62 ° (478
(51 None of these

04, % of z—?gor?_ 159
(1) 171 . @ 198
(3215 14) 148

{5) None of these &7
05.65+05x2-4= 7
- {181 {2) 19
{3)22 (4)27
{5} None of these "

~96. At what rate of striple 1nter-

. est will Rs. 4,800 amount to
‘Rs. 6,480in aspanof 7 years ?
{1)5 2)6
B33 (31 SO
{5) None of these ..
97. How much will a sum of Rs.
" . 6,300 amount to in a span of
2 years, at 5 p.cip.a. rate of
compound interest (Rounded
off to the nearest integer) ?
(1) Rs..6,946 (2) Rs. 6,876
(3)Rs. 6,521 (4) Bs. 6,790
(5) Rs. 6,492



988, In how many ﬁiffercnt ways

can the letters of the word.

‘BAKERY be arranged ?
(1) 2400 (2) 2005
(3) 720 (4} 5040
(5) None of these
99, What will be the average of

the following set of ‘acores -
(Rounded off to the nearest’} -

integer) 7 :

62, 76, 42, 84, 21, 47, 28
(1) 57 (2} 54

{3) 51 (4) 62

(5) 66

100. The product of three consec-
utive nurnbers is 3360, What
is the least number ?

17 (2} 14 -

{313 (4) 18

{5) None of these :
101. The area of a circle is 2464

square metres. What will be _

its circurnference ?
{1} 132 metres
(2) 176 metres
{3} 231 metres
(4} 272 metres
(5) 109 metres : :
10%. Cost of 24 pens and 13 pen-
v clis is Rs, 175. What is the
cost of 48 pens and 26 pen-
_cils ?
{1)Rs. 435 {2} Rs, 705 -
(3)Rs.290  (4) Rs. 350
(5) None of these . :
Directions (103-108} : Study
the following imformation and an-
swer the question= that follow :
Asumol F-. 13,880 is to be
divided amonigs: -, i3 and C in the
ratlo 7 : 3 : 5 re: vectively. :
103. How muct: 15 C's share ?
* . (1)Rs. 3,600 (2] Rs. 3,008
- (9) Rs. 3,650 (4) Rs. 3,660
* {5}Rs.8,124 :
104. What i the sum of B's an
C’s share ? -
(1) Rs. 5,685 (2) Rs. 5,885
(3) Rs.-5,897 (4) Rs. 5,873
(5) Ré. 5,856 :
105. What is the difference be-
tween A's and B's shares ?
(1}RS. 2,196 {2) Rs. 2,928
(3) Rs. 2,561 (4) Rs. 2,289
{5) Rs. 2,982
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10G. If the perimeter of a rectangle
" 1s 138 metres and the differ-
ence between the length and
the breadth is 7 metres, what
Is the area of the rectangle ?
(1) 1216 square metres
(2} 1147 square metres
- {3) 1184 square metres
{4} 1178 square metres
(5} None of these
Directions (107-111) : What
should come 1n place of the ques-
Hon mark (?} in the following num-
ber serles ? :
107.7 17 54 ? 1008 6591
(1204 @212
{31223 {4} 219
(5} None of these
108.55 109 ? 433 865 1729
(1)279 (2) 372
(3217 {4) 318
-{B) None of these

109.19 38 7 228 684 1368
(1} 106 2§ 114
{3121 ° 498
(5) Noné of these

110.87 89 95 107 ? 157
(11127 (23122
(3) 139 (4) 140

(5) None of these

111.474 459 429 369 249 ?
(119 - (2)0 '
34 ©{4) 11

(5) None of these .’

10 years ago, the ages of A and
B were in the ratio 13 :17 re-
spectively. 17 years frorn now
the respective ratio of their
ages will be 10 :'11. What is
the age of B at present ?

(1) 23 years  (2) 40 years

(3) 27 years {4) 44 years

{5) None of these

112,

Directions (113-117) : Study the following table carefully and

answer the questions that follow :

The table represents the total sales value (in lakhs) of five books P,

©. R, 8 and T, across eight bookstores A, B, C. D, E.F, G and H.

, Bookstores .
Books | A B C b E F | G H
P 560 | 590 | 210 | 670 | 560 | 680 | 420 | g0
O 550 [ 560 890 | 230 820 | 610 | 530 | 230
R 450 | 200 ] 540 | 530 500 | 520 | 60 | 410
S 1230 | 240 | 560 | 400 | 430 | 200 | 210 | 480
T (230 [ 400 410 | 240 200 | 360 ] 300 | 270
118, What i5 the respective ratio 1186. Book Q constitites ro_u.axi-

- between the total sales values maf2ly ' oo percent of the - -
of Book P across all the boot: - totad sales of bookstore C ?
stores and Proi » across all {1) 34 (2} 39 .

*i:e Dookstores ? {3) 32 @23
{183:55 (2)85:53 {5) 28 _
(3)83:53 {4)89:55 117. What is the total sales value

{5) None of these

114. The sale of the book R from
Bookstore H is what percent
of the total sale of Book R
across all the bookstores
{Rounded off to two places
after the decimal) ? ,

(1}21.12 ©  (2) 17.19
(3743  (4)3.04
(8)10.79

118. What is the average sale (in
lakhs) of bookstore E ?
(1) 502 {2) 504
{3)512. 4540 -
(5) None of these

, {in lakhs} of Bookstore D 7
{1) 2510 2) 2670
{3) 2900 (4) 2070 . -
{5) None of these

118. The cost price of an article 15

Rs, 480. Ifstistobe sold ata
profit of 6.25 percent, how
much would be its selling
price ? ' ’

[ Rs..510
(2) Rs. 530
{3} Rs. 503
(4) Rs. 519
(5) None of these'



) 119. 13 articles were bought for Rs.
5,880 and sold for Rs. 6.656.
"How miuch was the approxi-
mate profit percentage per

article ?
(1) 15% 2)11%
(3) 9% {4} 19%
{b} 13%

" 120. A and B together can complete
a particular task in 4 days. If-|
A alone can complete the,
_same task in 6 days, how

many days will B take to com- |-

plete the task if he works

alone ?
{1 8 {2} 17
{3) 14 {42 12

{5) None of these .

Reasoning

Directions (121-125) : In
_ each question below are two/three
statements followed by two conclu-
sions numbered [ and II. You have
to take the two/three given state-
“ments to be true éven if they seem
to be at variance from commonly’
* known facts and then decide which
of the given conclusions logically
follows from the glven statements
disregarding commonly known
facts.
’ Givemwer(l)ifonlycon-
clusion: ¥ follows. .
Give anawss 12) if only con-
clusiun H follows. -
Giveamu'(sjifdthﬂ'eon-.
clusion I or conclusion I follows.
Give answer (4) if néfther
_conclusion I nor conclusion o fol--
fows. _
Give mwer 8) lf bothk con-
clusion I and conclusion I follow.
121. Statements :
No commer is a side
All sides are- ends
Conclusions :
I. No endis a corner. -
1L Al ends are sides.
122, Statements : '
All questions arc answers.
All answers are replies.
Al replies are inquiries
Conclusions :
. 1. All answers are mquiriee.

II. All replies are qu_estlons_
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123. Statements :
All planets are stars.
No star is a moon.
Conclusions :
I. Some moens are planets.
II. No planet is a moon.
124. Statements : :
Some laws are rules. -
All rules are sentences
_ Conclusions :
I. - Atleast some sentences
are laws.
II. Atleast some rules are
laws.
125, Statements :
Some kites are birds. _
Some birds are animals.
Conclusions: -
I. Noanimalisa lcite
I - Some animals are defi-
nitely not birds. '
Directions (126-130) : Study
the following information to answer
the given questions : :
Ina certain code

‘answer it right' is written as .

‘ba ja nu', :
‘whexe is it’ is wnt‘ten as “fi
bato,

‘right, from he:e is wrltten
as 'sa vi j& and

‘here she is* is written as ‘fi
sa ho'
126. Which of the following may

represent. absolutely right

answer 7
(Njanuvi (2) ko zinu
B nu koja (4 nu jafi
. {5)d banu _ .
127. What is the code. for 'from ?
 (sa (2) vi '
3 ja (4) ba

* (5} Etther i or ‘'ba’
128. What is the code for is"?
(1) ba (2) to
@f (4) ho
(5) Cannot be determined

-129. What is the code for ‘she’ ?

iR 2)sa . -
(3 ho @ja -
(5) Cannot be determined _
“180. What does the code ‘sa’ stand
for ? : o
{Dhere . . (2) fram
(3) she (4) right

(5} Either ‘from’ or ‘is'

IMrections (131-1385) : Study
the following information carefully
and answer the given questions :

A B,C,D.E, F,Gand H are

| sitting around a circular table fac-

ing the centre but not necessarily

in the same order.

o C is an immediate neighbour
of both G and A. E sits sec-
ond to left of C. :

o Two people sit belween E and
H. )

# B is an immediate neighbour
.of G. Only one person sits
between B and F: .

131. What is thé position of D with
respect to H in the above ar-
rangement ? -

{1} Third to the left

(2} Immediate left
{3) Fifth to the right
-{4) Immediate right

(5) Second to the right

132. Four of the following five are
alike in a certain way-and thus

" form a group. Which is the
one that does not belong to

that group ?
(1) CH {2) FE
(3) AB : {4) GF‘ ‘
"(5) DC )
133. Who sits second to the left of
A?
F . 2) B
(3D (4 H

. ..{5) Cannot be determined
134. Who amongst the following is
an immediate neighbour of
" bothBand F?

@D {41 A ¥
" B) H d

135. B is related to E in a certain
way based on the given seat-

. ing arrangement. In the same
~“*way A is related to HiTo whom

o amongst the followmg is D

- related to, followfng«the same

pattern ?

={1).B (2re - -
@A , {4}*(}“ _
B F

Directions (136 140} : In

' these questions, relatigriship be-
twdén different elemefis s shown
.in the statements. Thexstatemients

are followed by two conclusions.



Give answer (1) 1f only Con-
clusion I is true,

' Give answer (2) If only Con-

clusion H is true.

Give answer (3) if either Con- -

clusion 1 or H is true.

Give answer (4) if neither

Conclusion I nor Il is truae.

Give answer (5) if both Con-
clusions I and IF are true, :

" 136. Statements :
F<RpC=M<T=K
Conclusions :

LK>0
"ILF<M

137. Stitements : _
G=NzO2P>Q=R
Conclusions :

LO>R
ILPzG

138. Statements :
Fe<O=L>xW=S§
Conclusions :
I. WxF
II.o25

139, Statements : :

" B=R>T<O=P 2 s
Conchuions
L. B<cO
I. T<8

140, Statements :
P>Q2A<R=!
Conclusions:

LAXP
ILI>A

: Directions (141-1485) : Study

the following informatton to answer
the given questions :

" P.Q RS T VandWare
seated in a straight line facing
North but not necessarily in the
same order. R sits third to the left
of W. Neither R nior W gits at ex-

treme ends of the kine. Only one

. person sits between Rand T. S is
not an immediate neighbour of ef-
ther Ror W. Two people sit between
TandP. Q. lsa.nimmcdlateneigh
" bour of 8.

141. Who amongst the following |

sits muly between R and T 7
S P @2g
“‘-H‘I“B) V.. 4 s
. (5} Nene of these :
142 Hawmany persons are seatpd
: between Pand w?
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(1) One {2) Two
(3} Three (4) Four .
(5) More than four
143. What is the position of T with
‘ respectto Q 7
(1} Third to the left
(2} Fourth to the right
{3) Second to the right
(4) Second to the feft
{5} Immediate left - r

44. Which-of the following pairs | -

represents persons seated at

the two extreme ends of the
line ?

(1)s,v 2)p. s

BT, Vv {4)p, Q

8P, T

148.'Which of the foliowing 1s true

with respect to the given ar-

rangement ? .

{I) Two people sit to the. lel‘t
of R

(2} S sits to the immediate l%ft

© of @

{3) Wanstltbctwocn’I‘and
P

(@) Only one pcrson sits to the
right of S '

{5} None is true

Dlrections (146-148) : Four
of the following five are alike in a
certain way based on the English -
alphabetical serles and so form a
group. Which is the one that does
not belong to that group ?

146.(1) OPKL  (2*TUXY
@) YZUV  {4) MNIJ
(5) FGBCG -

147.(1) GHJE (2} TUWR
(3} MNPK  (4) DEGC
(5) WXZU

148. (1} TVQ {2) DFB
(3} HIE (4} LNi
(5} PRM

. Directions {149-150) : Faur
of the following five are alike in a

certain way and so form a group.. -

Which is the one that doed not bc- .
long to that group ?
149. (1} Heavy  {2) High
" (9 Short () Low
B Tan :
150, (1) Outstanding® _
" (2) Nice R
{3) Excellent !
(4) Good
(5} Kind

Dlrectlons { 151- 160} : In each

of the questions given below which

one of the five answer figures on the right should come after the problem
figures on the left, if the sequence were cmtlnued ? 2

S ELVE LR 1 " i T2 T A H
12B34{. 2 Z 3 z G s | ¢ |6 Y 8
B1.) “¢c” T & P e | P 43p2 P lz4P2¢ P Jazp24.
1 D 0 Q_ I21c43)12 Q34 R_"ja3R21] R j21044 "a
o [EV I O B TR U {5
152 rr?\'-;rh‘?_.\ -r-"vé‘-r’\—:'_r*'f,vaJYLJ LrA-:
e ale plvorle Sl Al & e w7 afY el r|:
- . SR ¥ ¥ (2} 3 - {4} - {9}
% 5 SAA s ¥4 SO 9A| [f TOR T TEa T Ia 5 TH
183.3® s as|acils 75 T35 =910 N5IS Y 9lg =85(9 z 5
A9 40 1%]4 90[a 1%i0 5 4] I 3 #x 10lx Olxmals 1 A
’ ' . @ {3) (CI M 5]
] . P g b 4 1 2_ 2 )
e [T, SIS
- s m @ 68 @
TV : TJL L L L I v
1“‘ g ‘n"E E"B‘ LABREVL ABREY EG"- "55' E“B ER-B . é,_“'s
L ¥ ¥ B Ay . Ey ﬁy lL L
' ) 2 13 4 (5
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Marketing Aptitude " (4) Abuyer retrapting the sale
d (5) To convert & prospect 1nto
an .o .abuyer .
Computer Knowledge 168. '!'hetypeofMarketlngmvolved-
in barnks is
¥é1.ACall' In marketing ja.rgon .. (1) Transaction marketing
means— (2) Service marketing
: (IlAphonemil . (3) Commodity marketing
. . [(2) Browsing the net-.’ _ {4) Ruthless marketing
" (3 To call onaMeck . {5)Indifferent marketing
(4) A Call centre . ' IGB-MarketSpaeemeans— :
(5)Aplaoeuﬂ'wsmp , {I]Placewheregoodsaresold
mme ‘task. of. mu:ketmg m— - {2) Trade fairs and melas
volves —.« -~ Lo {3) Road shows
+ (1)Operniing new: branches‘ _ {4) Scope available for sclhng :
(ZlBuylﬂgaeomy . (5)Competition ',
{3) Selling a compary: - < X687 A lead" means __. :
: m&ﬂnng proficts and ser-, (1) A eash- (21Aleader
o vlwsofaCompany - (ﬂﬁwmmﬂm}rﬂ L
(51Mﬂ‘!=ﬂl SMYADSA " [S}Acoid call | .
Mark: IBB.A DAS's (Direct Selllng S
-;l“ :’““ m‘sm“m“ " Agent's) main jobds — . ©
1) Relistionshifi Markieting . (o design products, -
mfmmcﬁoﬁm’&ﬂng * (2}1‘05811 to the targdt gmup e
; . 141 Tb-diswbute profits

"@"wﬁ “{5) Yo e incentivés . -
“’!ﬁ Tranistction mafketing in--|

of-i—

"r i fl}MerE'ﬁooqs _j"_‘ :
( Mq-eservicea

"’S_’“"" {3) Idezis;and ﬂmﬁfghﬁ .

{4}chaﬂ"w6rk .
(5) ARter Bales service !

170. A 'Prospect’ means —
{1} Newly designed Product
{2) A Teaun leader
- {3] A likely buyer
{4) ATM usage
(5) Story transaction

171. Marketing techniques include

(1) Good arguing skills
(2) Good joking skills
(3) Effective negotiations skdlls
(4) Walking skills
(5) Internet telling skills
172.Service marketing implies
selling of — . .
(1} Only Goods - -
(2) Only Services
{3) Web servers
" {4) Various commodities
(5) Goods and services
173. Marketing Channels means -~
(1) Outlets from where sales
take place
(2} Channel Financing
(3) Focusing sales on one sin-
gle group
(4} Home Deltvery
(5} Courier service -
174. Market share means —
(1) Share capital of the Com-
{2) Staff strength of the Com-
pany - L
(3) Employees Stock Option
- {4) Share price quoted in the
) market
{5) Percentage shate of busi-
- ness of the Company.
© compared to peers’
175 The target: group fdr Tractor
‘Loans is — '
- {1) Cold Storage Pfants _
* {2) Farmers with large land -
‘holding =~ . - '

-(4) Agriculture Collegcs
. {5) Vegetable vendors’
176. “Cross-selling®. means
(1) Selling to enemtés
"(2) Seliing new prbtitxcts
* (3) Reversal of a’ séié

: .177,T'he target'gr N =aLn ATM-

ot ' cum-Debit Car_d-_.j' L .
« g 1) All Primary S¢ og’lchﬂdm

{2) AN pnsoners e



(3)Firms
LA existing ane. g
tive customers
[£53] Other ba.nk 8 customers
178 The La:y
Loan is —

e

(1) All High lncome Individu-

als
(2} All Car dealers
(3) All students’
(4) All BPL persons
(5) Blind persons
1709. A Savings Account with In-
surance benefit is —
{1) A long term loan account
" (2} A running Overdraft facil-
ity
(3} A non-fund facﬂity :
(4) A type of remittance facili-
ty ) .
5)A value—addcd deposit ac-
-~ count
180. 'IheleadsforaCarLoancan
) be got from —
(1) Car Manufacturing Com-
panies
(2) Car dealers
{3) Car owmers
(4) Car mechanics
.. {5)Back Office staff
-181, Which type of memory gets
lost when you switch off 7

.{1}) ROM {2) RaM
(8) Cache - (4) Dynam!c
(5) Static

. 182. What is the name of the pro-
gram that controls the com-
puter ? :
{1} The Operating System
(2) An Application ngram
(3} ABrowser
(4) The File Manager
(5) The Compiler . '
183 Whlch type of network would
“use phone lines ? .
{1y WAN - {2} LAN.
. BIWWAN (4} erclosg
-{5).None of these

Whattypeofdeviceshfccom. :
Pgter speakers or. Head- | -

phones ?
(1]’iﬁ
2)1h yut/Ou tput

(3}

() Elorage (5) Output
W,lucp type of memory holds
th& program to- start up the
computer ?
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A{iIIROM {2} RAM

© (3)Cache - (Y ytatic'.

{5) None of thege. .-
186. A program for vlewmg web

-u-.f,—-— M -—n‘]pr

{1 ) Word pmcessor

(2) Spreadsheet

(3) Protocol

(4) A browser

{5) Database

187.The term used to describe the.: -
intangible instructons that

tell the oomputcr what to do
s

(1} hardware (2) aoﬁwane
(3} storage : o

(4) input/output

{5} None of thege

. 188. A computer tower is not

{11A CPU

(2) Hardware

{3) the “Heart" of the nomputcf
(4} A peripheral -

(5) None of these

189.& computer cannot perform |

which of the follcrwlng fane-
tions 7 '

(1) Addition (2) Subtraeuon -

{3) Bake a cake
{4} Division
(5) None of these
190, Which of the following han
the smallwtstomge oapacl{y 'd
(1} Zip Diske . .
{2} Hard Disk -
(3) Floppy Dlsk .
{4) Data Cartridge
{5)CD-

191. Whattypeofémm arcCDs |

TorDVDs? - .
. (BInput, . (2) Output
{S}Soltware 4 SWMEG

. {(8)Input/Output - -
92. Why RAM fs so called ?
(I)Bmauseittsmadandmte

direcﬂyfor m%p-}
" trieving ‘data and instruc-!
tions of. alzy loeatlon of
chlp g e
A4 Bécause lt ia g mm—mla-
tle’
45) None of these. " .

- MEmOLy. -
{2) Becauss it 18 a: volatllq .

memary. - :
(3) Because it ean beaelmd "

R .

93. What ts the full form ol’URL ?
U {1) Uniiformi.]
“{2) Universal Re&olutton Loca-
: tor
(3 Untfom Rercurce :,‘cat
(4) Universal _Re-englneerlng
Location

(51 United Resourccs Locator -

194, The language which can’ be
relocated easily, is.

© {1) Machine Language
- (2) Assembly Language
{3) Low Level Language -
(4} Medium Level Language
. {5} High Level Langusge

198, Which of the fol wing de-
scribes the ¢ teristlcs of
‘SRAM ? _
{n Cheap but slaw . .
(2) More dear and morc con- _

sumption of power .

{3).Based on combmaum of

{4) Lcss consum;:tlon of pow

_ [S)Nom: oftheee S
198, The free available kntmn re-
pair of software bug on inter-
net is calléd
(1) Vcrsic_m
{3 'ﬁxtoﬂai"
(5} Patch .
197. Which of the followmg disks
-can be read only * .
(1) DVD-R - (2) DVD-ROM
T {S)DVR-RW [4) CD:—R ool
: (5) Norne of these
198. Which of the foﬁowing is not
a computer language ?
(1) High Level Language
.- {2} Machine Language
- (31Lowncm1-an5uase .
(4} Medium Level Language
. {5}Noncofthesc o

@ Addon _
@ FAQ '

. '_'19:0.'me speéd of clock rrequent.y, _
qr rpicr!;procmor is mea-

i

(iBodrate
(4) Bits

[E

{l] Hcrl:z
(3)CP$

) Byies
200, Whitéts G the foﬂbw]ng s i
. erully costligr ¥

‘ {1y Seiver”

_ (2) Notebook Coimjuter

T !SrPﬂmhal Cmnpuier

Y
R

PR R
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